{Time: 2-;- Hours]

N.B: 1. Figures to the right indicate marks e
2. Graphs to be provided wherever neéded. -

Q.1 (A) Choose the correct answers: (any 8)

1) If Aand A are complementary events then P (Kim'

(@ 1+p(A)  (b)-P(A) (c)1-P(A) - ST TR IR
2 We use regret table for calculating S i
(a) EOL (b) EMV  (c) Maxim

3 Theformula for Laspeyre’s index numbgr is;

(@) Xpr1do . ZPido Zplth PR P L OO FOTe N O]
2p1 4o 2Pogy 2’3111‘}1 RN FE ST oh o A
4 Cost of Living Index numbers is é!so Ignown as —--;-—----—!ndexNumber oy
(a) Vvalue (b) Consumgr’s P*rrde (::]Wholasalé_%: > &
5 The difference between the upper ilmlt and lower lim bf a class ns called-
(a) Class mark (b) Class W|dth {c] none o\fthese S N
6 Mode is ----——-- —value v _"‘:4 o
(a) Least frequent (b) Middle mo'st [c} Most frequent S-SR
7 Ifvariance of a data i 4 ¢hen |ts»5tandard dewatlon s er g
(8) 2 (b)4 fc)5 O T '

“-msme— of class

(a) ongm S by Scale {c g_
9 Coefficient of: correlatron lies. betweéu e
(a} -land +1 . (b)-2 and 2 <
10 Rangeis det*errnmed ‘only’ by -mserins
,{aj Two (bj Three (c)@ne

Q.1 (B). State«wbether True or. Faisej-'

s ;
3o Probabdrty of an eventcannot ]:Je bz o] o IR
4 The algebraie sum: of the devlation of a freqa’ency distribution from its mean is always zero.
.There can be more: than ane modaJ Value in a frequency distribution.

5
6. Frequency.density of a class intarval = {zf:: ;: :;qz‘lz:y

LV \,:1% _Dgagran@& gréphs are»plctoﬁal repr*esentatlon of tabular data which is easily understood by a common

R K 'Index number forthe bas _'é,r:.‘._iméjalways 100.
-I:;\a-z_-{.; 8 -,Ifanx;nﬁurance premj,u IS \not ‘paid within the grace period, the policy lapses
i 10 The tabu!ateqsrate\ ofan ual premium is calculated per Rs. 10,000.




Q.2 (A) Calculate Quartile deviation. o o AT AR
Weekly wages: | 0-20 20-30 30-40 40-50 . 50-100" -
No. of Workers: | 40 39 39 oGl il B0, o SAS
(B) Calculate the standard deviation of the height of 8 childrﬂenl._:_ T
Height in cm - 90, 94, 95, 97, 100, 103, 105, 108 Fo LA
OR S, < S
(C) Calculate co-efficient of correlation between Index of demand and. Iné‘ex of prtce g
Index of 101 108 R S (1L Ry 7 1209 -
| demand i s o G
[ Index of price 117 98 102 118 1105 % .

Q.3

Q.P. Code :00070

w

iy

" vy

(D) Ca!culate co-efficient of rank correlahon between marks in Mathematlcs and marks in Enghsht

English S S PR P IS Pl
Marks in 90 TP & 1780 = ol g ﬁO-'-_ |75
Mathematics : - Kol ke e LN

Solve: ¥

(A} A bag contains 7 white bal!s 5 b!ack balls and4 red Ea]is. iftwo balls are drawn at random from the bag,

find the probability that (i) both the balls are white;. (i) one. Js,bba;:k and the other is red.

{B) Ina Pizza hut the followmgfﬁlstr:butlon is fou nd fcr the‘d '[y"demand of pizza find the expected daily

No.of Pizza -: s NG 8 l 9 10
Probabﬁf‘\ 1038 20 6750.3 | 0.07 0.06
(C) Find mdex number usmg we!ghted average of relatwe method
: Cammbaities ¥ e Price Quantity Consumed 1980
Fd P S 1980 -« 1950 |
A, ._% v g 3 r : ) -‘»i \‘\‘ ? 5 10
LB & < R o g S 15 2
5 oG 2‘ 7o 4 5
{D) Calgulate Laspeyre»s and Paasche 'S mdex number from the following data for the year 1995 with base
199@ b vt
- : i 2 N
z Co'mmo*‘dit‘y et Price Quantity
T o <7e¥ 571 1990 1995 1990 1995
e ¢ o | 10 12 20 22
MCEREE 13 13 23 24
5 il 16 18 20 18
du-%2 ' 20 18 5 6
EC 18 20 7 8




Q.4

Qs

TR n]Comp!emenfary Even‘ts
{D}f\mdex Numbers of A(gnél;dtui'al Produ
{E’j Pald up Value s3i ey

(A) Draw less than cumulative frequency curve and find the rnedlan farthe£01lcwm%data

Solve:

Age in year

10-14

14-18

policy holder

No.of Insurance

10

13

Class-
Interval

100-150

1150-200

200:250 - | 250-

Frequency

15

22

AN

v VOR
(C) Calculate mode of the following sétof data

|)Pr0bab|ht'g

(A): MEI‘ItS of Anthmetmrﬁea
(B thferent types, of ogwes

"\w. =
”

%t 3”"
tzt‘fb

Class- 1020 2030 | 3040 [4056
interval s o N
Frequency | 24 _'!42 o o -

reduction of Rs.2" gér thousand for a’pahéy wﬁth sum assured more than Rs.1,00,000, find the net menthly
premium that the person h_

~

15



